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N = 0] &F AF S & AN A
20218 &= 20 A LUHSH Al
A2 AT E M A SN AL E A H
HaM: AISIHAMMEIHEZTA (MEEX/=S)
e A EEAHELESNH (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
AFS = A H 2t 34,228,631 39,418,646 A5,190,015
= 7,639,866
g 17,308,000
= 9,280,765
AMSIHARMMEHHEZAL (MBI 2R /=S) 34,156,363 39,326,306 N5,169,943
= 7,639,866
= 17,308,000
o 9,208,497
AMSIHAHESLS XA 10,698,133 16,088,642 A5,390,509
= 5,297,586
o 5,400,547
ArSI M A A = 176,320 115,800 60,520
201 YptE | 172,000 111,000 61,000
01 AP 2t 2] H| 172,000 111,000 61,000
Ogst=2H| 160,000
OMIEIMNEHALENEXNZ K0! 10,000
OMIEINELHSGFRES 150,000
Oeds¢ 12,000
OMIEHIMA S EA =G 12,000
203 &R = b 4,320 4,800 7480
03 Al 2 =& 2 = X H| 4,320 4,800 AN 480
OMIEZIHEESGSERFA 4,320
MEEZHMNAAEH LY S Y 600,000 600,000 0
307 2Iz2t0| & 600,000 600,000 0
05 QIZtR &2 600,000 600,000 0
OAS EEMAREESA 600,000
A EHA M =S H 1,685,000 3,550,000 A 1,865,000
307 2izto| A 1,660,000 3,000,000 A 1,340,000
02 QIZ2FA AAIE E X 1,560,000 2,900,000 A 1,340,000
OF3=8AMIEZIMEESN2A 100,000
OAMNSEAMI S AL R A2E2ASIAIY (=01 E
o) 100,000
OAISIEAMIIE10-102 834 160,000
OAMSIEIHAMANHSS 100,000
OE=SEALEES2BESHTAIY 200,000
OA8EHHE NS 200,000
=SS0 AL8ET22 4 300,000
OMSEZHUFRE=SAME AN 300,000
OF=8AMIIEZMAAHSAIS 100,000
04 SIZ2HSHAALSH E & 100,000 100,000 0
RPN ESEED NN RIS 100,000
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308 X EHSOIA 25,000 50,000 A25,000
01 HIXNHHBHNEELES 25,000 50,000 A 25,000
OAI BB HE A2 N2 25,000
SsXEEds N 280,000 330,000 A 50,000
307 eIzl & 280,000 330,000 A 50,000
02 It M AHEE 200,000 250,000 A 50,000
Ogs3NgddaExs 200,000
04 DIZHHALALSE E X 80,000 80,000 0
O EStALSI & Z HICH & 80,000
A ZHZHEBE L Xtel 1,395,172 1,410,842 A 15,670
= 697,586
< 697,586
307 glz2tol & 1,395,172 1,410,842 A 15,670
= 697,586
< 697,586
02 IZtE M AHE X 1,395,172 1,410,842 A 15,670
OZSSMAZIME I LRe 1,395,172
= 697,586
< 697,586
ASIHBHEE LIl (Al2) 6,187,840 9,642,000 A 3,454,160
= 4,600,000
= 1,587,840
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= 4,600,000
=) 1,587,840
01 AXHHILEES 6,187,840 9,642,000 A 3,454,160
OZSEMaAE3ME I L Re 6,187,840
= 4,600,000
=) 1,587,840
CI2AMIZOUHSESHARLS=ARNA(INHEEX 50,000 50,000 0
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307 glz2+ol & 50,000 50,000 0
02 HAFHAANGEEE 50,000 50,000 0
O A Z20IHESEHRAS=HAIAXZ ALY 50,000
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A HDI =425t 13,827,630 15,570,530 A 1,742,900
= 2,342,280
s 10,060,000
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A EIIHE LR 18,000 17,000 1,000

201 £B-2d| 18,000 17,000 1,000

01 At 22l 18,000 17,000 1,000
Ogpt=2tl 6,000
OMIHEIISSEMGETRANEFO 6,000
O2dsg 12,000
OMIAIIAS LAY A Z 12,000

M HI| LK ASIHALS 200,000 200,000 0
= 140,100
< 59,900

307 21201 A 200,000 200,000 0
= 140,100
< 59,900

02 QAFAAFEX 200,000 200,000 0
OAMSI I LRNASSAIG (=L EA) 200,000
= 140,100
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< 949,300
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as 9,493,000
< 949,300

01 AXHHILEES 10,442,300 12,262,800 A 1,820,500

OAMRIIASL e EEAMG(ZSEL)(FL
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s 9,493,000
< 949,300

M HILAS EE S X ALY 623,700 717,200 293,500
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< 56,700

308 XX EHH SOl 623,700 717,200 /93,500
s 567,000
< 56,700
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OIEO) 623,700
Fag 567,000
& 56,700
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= 481,280
== 120,320
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= 481,280
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= 481,280
= 120,320
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= 361,900
= 46,530
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= 361,900
& 46,530
01 IXHHIMNEXZ 408,430 550,630 A 142,200
OAE EH DL X HESHAFS (Al 2) 408,430
= 361,900
& 46,530
ANEZ2SsHELdS}F=A 9,630,600 7,667,134 1,963,466
g 7,248,000
= 2,382,600
DIS)IgE 43X 22,000 20,000 2,000
201 et 9| 22,000 20,000 2,000
01 AR 22l ] 22,000 20,000 2,000
Ogst=2H| 10,000
OlISJ)IgdAIEES 10,000
Oosgs¢ 12,000
OUISIEHEMMAI B G 12,000
OISJIESHEAIE(RESAHALEXH) 556,000 556,000 0
Fag 278,000
= 278,000
307 giztol A 556,000 556,000 0
Fag 278,000
= 278,000
05 QIZtR E S 556,000 556,000 0
O0S)IYSEMY(REAHALE X)) (ZESY) 556,000
g 278,000
= 278,000
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s 602,000
< 180,600
308 XXX S0 A 782,600 747,500 35,100
s 602,000
< 180,600
01 AXSHBLEELS 782,600 747,500 35,100
OoslIgsgMd (2S5 Y) 782,600
s 602,000
< 180,600
NESSH LR AL 4,300,800 5,643,634 A 1,342,834
as 3,584,000
< 716,800
308 XXM S0l A 4,300,800 5,643,634 A 1,342,834
as 3,584,000
< 716,800
01 IXNHHBANEES ,300,800 5,643,634 A 1,342,834
OXNSzsHLMelMg(ZESY) 4,300,800
s 3,584,000
< 716,800
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OMEEEZL=Z7HI 7,200
OLAREEAS7HI 3,808
OaxnE=4Hl 6,840
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o2l NS MHA2S) (&)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
= 899,984
< 300,560
403 X SHHS =0l & 1,200,544 732,144 468,400
= 899,984
< 300,560
01 XM A2E X 1,200,544 732,144 468,400
OnsSANEASHAHATL XA 1,200,544
=2 899,984
< 300,560
EgussH7N 464,100 464,100 0
= 357,000
< 107,100
403 XIS S X201 & 464,100 464,100 0
= 357,000
< 107,100
01 X SHMA2E X 464,100 464,100 0
OSENsS+e24X 2 464,100
= 357,000
< 107,100
Z2A0IsSAEUHEX2Y 1,000,000 800,000 200,000
307 gl2tol & 1,000,000 800,000 200,000
05 BIZHRIE 3 1,000,000 800,000 200,000
O290IsAJAdHZY 1,000,000
sEgunszd 1,170,000 2,400,000 A 1,230,000
s 1,170,000
308 XXM S0l A 1,170,000 2,400,000 A 1,230,000
s 1,170,000
01 AXNSHHBLAEES 1,170,000 2,400,000 A 1,230,000
OsEZ3 2 YA (FSEZHN)(FUEA) 565,000
s 565,000
OsE338HAXNE (FSZHI) 605,000
s 605,000
T=REHEANSHAMSXH 200,000 200,000 0
308 XXX SO0 200,000 200,000 0
01 AXSHBLEELS 200,000 200,000 0
OS28NS HAMS XA 200,000
EHAI 2 XHE & 120,900 218,400 A 97,500
= 120,900
308 XXM S0 A 120,900 218,400 A 97,500
= 120,900
01 IXNHHBNEES 120,900 218,400 A 97,500
OSAI X2 &X& 120,900
= 120,900
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Al 2E X & 484,400 105,315 379,085

308 AXISHXSO0IH 50,400 50,400 0

01 AIXHMBAEXZ 50,400 50,400 0
OS2 ANFSHANE 50,400

403 ItXISHXMSA201 & 434,000 54,915 379,085

01 AIXISHMA2E X 434,000 54,915 379,085
CTHIO| ZEH A AL X & 434,000

SSHAZEXE 80,000 70,000 10,000

308 AkXI S M SO0l & 80,000 70,000 10,000

01 AIXHMBAEXZ 80,000 70,000 10,000
O3sgHAZ =X 80,000

ANMAHASSAMI XA 15,000,000 15,300,000 300,000

307 212t0| & 15,000,000 15,000,000 0
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OAMAHATHEL Z =X 15,000,000
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= 470,000

308 AHXI S M SO0l & 470,000 1,600,000 A 1,130,000
Fas 470,000

1 AXSHNEIANEXZ 470,000 1,600,000 A 1,130,000
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= 3,868,000
s 17,612,000
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ME=S=—F R E 28,000 26,500 1,500
201 LB-2d| 17,500 16,000 1,500
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